CMR

Explain advantages and disadvantages of pre distribution and post distribution
modal split.
List the various types of transport survey that are to be carried out. Explain any
two in details.
Explain post distribution modal split with the help of flow diagram.
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PART A

Explain with flow diagram of system approach to transport planning.

Explain advantages and disadvantages of pre distribution and post distribution
modal split.

List the various types of transport survey that are to be carried out. Explain any
two in details.

Explain post distribution modal split with the help of flow diagram.

INSTITUTE OF USN 11CIR —
TECHNOLOGY TECHNOLOGY
Internal Assesment Test — 3

Sub: Urban Transport planning Code: 10CVv843

Date: 27/5/2017 Duration: 90 mins | Max Marks: 50 SSetrkr]]: Branch (sections): civil (A,B,)

Answer any three questions from PartA & two from Part B
OBE
Marks -5 [Rp
T
PART A

1. Explain with flow diagram of system approach to transport planning. [10] ClVEO4l L4
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PART B
4, The trip rate(y) corresponding household sizes (x) from a sample are shown in
table below. Fit a linear equation relating trip rate and household sizes.

Household(x) | 1 2 3 4
Trips perday |1 2 4 6
(Y) 2 4 5 7

2 3 3 4

/5. Utility function for a travel pattern in a medium city by Automobile, bus & local
as follows.U=a-0.004X;-0.09X, Where X; and X; cost of travel and travel time
Respectively . Calculate modal split for the given value.

Mode a Xy | X,
Automobile -0.35 130 | 32
Bus -0.40 25 50
Local train -0.45 65 45
Cl CClI HOD
PART B

4. The trip rate(y) corresponding household sizes (x) from a sample are shown in
table below. Fit a linear equation relating trip rate and household sizes.

Household(x) | 1 2 3 4
Trips perday |1 2 4 6
Y) 2 4 5 7

2 3 3 4

5. Utility function for a travel pattern in a medium city by Automobile, bus & local
as follows.U=a-0.004X;-0.09X,, Where X; and X; cost of travel and travel time
Respectively . Calculate modal split for the given value.

Mode a X1 | X,
Automobile -0.35 130 | 32
Bus -0.40 25 50
Local train -0.45 65 45

Cl CClI HOD
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